O’Sullivan Chapter 2:  Why Do Cities Exist?

1. Cities persist because the benefits associated with concentrated production more than offset the costs of living in high population density.

2. When would a region have not cities?

a. Equal productivity (lack of comparative advantage among regions).

b. No economies of scale in production (constant returns to scale).

c. No scale economies in transportation (costs per mile independent of amount shipped).

3. Why do trading cities emerge?

a. Comparative advantage generates trade and higher production possibility.

b. Transportation costs are relatively small, including the opportunity cost of travel time as well as money costs.

4. How do factor cities emerge?

a. Economies of scale lower the costs of production, adding to factor specialization and plants larger than the minimum efficient size based on indivisible inputs.

b. Economies of scale in production enhance the benefits of lower transportation costs and explain the location of cities at crossroads, ports, river junctions, and other transshipment points.

5. What factors limit city size?

a. Transportation costs for given economies of scale.

b. The extent of economies of scale for a given demand density.

c. Demand density needed to achieve economies of scale.

d. Commuting costs of workers on wage rates and opportunity costs of factory goods.  (Example, cost of factory shirt versus homemade shirt.)

History of Western Civilization
Application of four factors that explain why cities exist:       

1.  comparative advantage, specialization, and exchange;

2.  internal scale economies and effect of larger demand;

3.  transportation costs; and

4.  agglomeration economies.

The First Cities
1.  The first cities served both defensive and religious purposes

2.  The defensive city originated to protect stored food surpluses.  Economies of scale in food storage protection existed.

3.  The religious city developed with economies of scale in temple worship of terrestrial gods rather than earth gods.

4.  Defense and religion were complementary services that led to agglomeration economies. 

Greek Cities.

1.  By 500 BC independent city-states ranging in size from a few hundred to tens of thousands.

2.  Athens had a population of 150,000 and Sparta a population of 40,000.

3.  Athens was a market city that originally depended upon trade but later turned to homage and tribute from lesser cities

Roman Cities.
1.  Rome had a population of more than 1 million by 3 AD

2.  It fed its people from a combination of trade and tribute, with tribute being more important.

3.  By neglecting production activity it lost interest in trade routes and eventually declined following German tribe invasions in the 4th and 5th centuries.

Feudal Cities
1.  Islamic conquest disrupted trade and growth of port cities on the Mediterranean.

2.  Marauding barbarians swept across Europe, making trade and travel dangerous

3.  The feudal economies of the 11th through 14th century were based on manorial estates and small walled cities.

4.  Toward the end of the 14th century small defense cities gradually became market cities.

5.  Market cities developed for two reasons:  a) Power in the feudal system was decentralized, causing production and exchange to replace tribute and force; and b) agricultural productivity was low and cities were required to compete with homemade products with other cities rather than only for food in its hinterland.

6.  Competition among medieval cities caused innovations in production and commerce.  Education and literacy developed in cities.

7.  The black plague between 1350 and 1450 decreased Europe's population by 1/3 to 1/2 and reduced the growth of cities.

Mercantile Cities.
1.  In 15th century power transferred from feudal lords to a few monarchs largely because of economies of scale in making war and new defense innovations.  (crossbows, muskets, and canons)

2.  Long-distance trade developed because of two reasons:


a)  Safety increased with defense system, and b) Development 


of ocean travel and exploration opened up new markets.

Industrial Revolution 

1.  In last 2 centuries urbanization has risen exponentially.

2.  Agricultural productivity increased with mechanization

3.  Manufacturing innovations increased scale economies in 
production and led to centralization of employment.

4.  Intercity transportation allowed regions to exploit their comparative advantage and opened RR cities away from ports.

5.  Intracity transportation replaced the "hoof and foot" city 
and expanded the viable commuting distance and size of a city

6.  Structural steel and elevator increase density of land use

Urbanization in the United States.
1.  Pre depression period of rapid urbanization

2.  Decade of great depression

3.  Post war period with reversal of MSA v non-MSA growth in the 70s.  Why?  



a. dispersion of manufacturing employment due to intercity transportation; 


b. slower decline in farm employment; 


c. growth in extractive industries; 


d. growth in retirement and recreation cities; 


e.  population "spillovers."

4.  Old versus New Cities in the United States


a.  The role of the automobile on the form and population density of cities.


b.  The role of electric power on economies of scale in production.

c.  The separation of a firm into a “packet of functions” at different locations.

